Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER- 3(NEW) EXAMINATION ~SUMMER-2020

Subject Code: 3330605 Date: 02-11-2020
Subject Name: Surveying
Time:10:30 AM to 01:00 PM Total Marks: 70

Instructions:

1. Attempt all questions.

2. Make Suitable assumptions wherever necessary.

3. Figures to the right indicate full marks.

4. Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.

6. English version is authentic.

Q.1 Answer any seven out of ten. £21Hie{l S1OURQL Uldsil cled B[]
1.  Define geodetic survey
9 QHldd udeiulel el w1,
2.  State the advantages of graphical scale
R AULSIsA Bl sluel qull.
3. Write function of agate cap and eye vane in prismatic compass.
3. [U»A2ls SUly Hi wdle 3U vial w18 Aet of S dul,
4. Define (1)fore bearing (2)back bearing.
¥, UL AL (1)HA AL (2)usd ATl
5. Explain level surface.
U dHdd ULl yuedl.
6.  Define (1) line of sight (2) axis of telescope.
€ UAL AL (1) @Bl s Uloe (2) elrsu «l w4,
7. Draw symbols (1) pipe railing (2) railway line (single).
9. AslelRl  (nueuda (2) ed dlyel ([Rae)
8.  List the methods of orientation for plane table survey.
¢ \Ael 204 U HI2 [e5e et of] Rd) ofl YLEL weildl.
9.  List the types of Tapes.
€. Ustl UsIRL «{l ALE] watidl,
10.  Explain contour interval.
o, UMY L <l L0l AHxAdl.

Q.2 (@  Compare plain scale with diagonal scale.
UL () Ulel B e (A5l Bdefl A MR 53,
OR
(@)  Explain principles of surveying.
1) oL L [RasAid Ao,
(b) A 20mt chain was found 10cm too long at the start of the work. After

measuring a distance of 1290mt it was found 20cm too long. Find the true
distance.

(1) W5 204122 ol A8l s1Heil e 1d Hi QUL ay dioi] edl. 1290 Hl2r
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o vid il ugl d 20 Q4L ay giedl HigH usl edl. A1 2id 2l

OR

Calculate hypotenusal allowance for a 20mt long chain when slope of the

ground is 7°30°.
of) esi{lelell @lel 7° 30" €l dl 20 Hl22 divfl Avet HI2 58 gty of]

QA3 s
Explain line ranger.

dlgel 3092 cRld).

OR
Explain perpendicular off set and oblique off set.
512WR3L W1sA2 wal dlds wlsA2 AHodl.

State the advantages of GPS.
HUIAA el SLAEL Q).
OR
Explain segments of GPS
UL ol | M),

Explain local attraction.
@[5 wisNEL yHeAdl.
OR
Explain dip of the magnetic needle.
od (5 AlUsf oAHel YUl
Convert following WCB in to RB
(1)148°30° (2)222°15°  (3)298°30°
(<A<l WCB « RB i 3.
(1)148°30° (2)222°15° (3)298°30°
OR
Explain closing error.

AU 2] uHtd).
Draw contour plan  (1)Hill (2)Valley (3)Pond (4)Uniform slope

AU v el (1253 @uilel  @)dald (4)AsHIR) aln
OR
State the uses of contour.

JHIRA AL ol GUUIL qudl,

State the advantages and disadvantages of plane table survey.
Wet 204e Adell s1Uel W A§1ULL Quil,

OR
Explain the method of intersection for plane table survey.

Wet 2046 Ud o] UU2 Deotefl I UHomdl.

Explain temporary adjustment of dumpy level.
sl Qadsj a1l AH el qHd).

OR

Calculate corrections for earth’s curvature and refraction for a distance of

1370mt.

1370 #l22 AL 2idz 112 yedldl a0 dan alsead Hizdl YaiRi-dl oadzl s2i.

List the types of bench marks. Explain any one.
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de & ol USR] ofl ALE] wetldl. AR d A5 Yuoxtdl.
OR
Explain reciprocal leveling.
Ul dQ&Rl yuxldl,
The following successive readings were taken with a dumpy level.
1.325, 3.330, 2.430, 3.870, 0.765, 2.135, 1.970, 3.475, 1.250, 1.870, 2.940.
The first reading was taken on BM having RL of 100.000mt. The level was

shifted after 4" and 8" reading. Calculate the RLS of all the points. Apply
arithmetic check.

A5 sl Aadei] Heeell (1A Yosoleil 5(1s vdd)sed olldl Hi wicl
&dl.

1.325, 3.330, 2.430, 3.870, 0.765, 2.135, 1.970, 3.475, 1.250, 1.870, 2.940.
Yol A dd)sel 100.000H122 o WIR.:4. tRlddl Y HIs U Ad i
w1d6 &q Addal A\l Wl M16HL WAl Sel Uedl WASAIM #1A4 &,

oy (gl «il w1214, AN, ALl dlol Aad).

Compare rise and fall method with height of instrument method for RL
computation.

32,004, ARG L+l A8 el §ld Ueri[d ofl sle2 wils BetgHe ueld
LIRS ER]

The following bearings were observed in a closed traverse ABCDA. Correct
the bearings for local attraction and calculate included angles.

Line Fore Bearing Back Bearing
AB 67°30° 247°30°
BC 126°00° 307°00°
CD 225°00° 43°30°
DA 307°30° 128°0 0’

A5 ot HIGIRWERL ABCDA Hi [R3L Hsyoieil 61101 AHAIME B3 s,

2115 2SN HIR AZTAHE YHIR) 53 wal HIdRWEleL AHidILs Well

IR
4l TNARIN] VESRAP]R]
AB 67°30° 247°30°
BC 126°00° 307°00°
CD 225°00° 43°30°
DA 307°30° 128°0 0’

List the instruments used for plane table survey.
Wel 204 Ud U1 duldl ALl ol ALE] odetld).

Explain direct method of chaining on sloping ground.
Lol d1uil o{let UR idR Hiuilefl uciel Id yuomdl.
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